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GCSE 9-1 Higher
Practice Paper

Set D

L Paper 1 - Non Calculator

CorbettmOtths

J
Question Mark Available
1 2
Equipment 2
1. Ablack ink ball-point pen. -
2. A pencil. a
3. An eraser. 2
4. Aruler. 6
5. A pair of compasses. 7
6. A protractor. 8
9

Guidance

1. Read each question carefully.

2. Don’t spend too long on one question.
3. Attempt every question.

4. Check your answers seem right.

5. Always show your workings

Information

1. Time: 1 hour 30 minutes
2. The maximum mark for this paper is 80.

3. The marks for questions are shown in brackets

4. You may use tracing paper.
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1. Work out the value of

i (2)
2. S=vi— latz
2
s=a- =4 a=-73
(a) Work out the value of v
%
Qo= Ly - x-3x 4
Ly = -4 s RN
(2
1 2
(b) Make athe subject of § = vt —Eat
=
Vt" S-r\/Qo.{'
yatt=vt-5
2 2_ -~ Qvt 3 ZS
at‘ = QVt-Q‘S a o 8
(2)
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3. Edward and his four friends go on holiday.
The total cost of the holiday is £3600.

Edward is going to stay longer than his friends and he is going to pay 35%
of the total cost.

The rest of the total cost is to be shared equally between his four friends.

Edward says,

“| pay twice as much money for the holiday than each of my friends.”

Is Edward correct?
Explain your answer.

Eduwed pays 35T

(4)
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4, It would take 48 days for 5 men to build a house.

(a) How much longer would it take if only 4 men built the house?

48 doys —> S ren
xS (qu days = | Maw
;‘q,( 60 du‘as —_ Qmu\ 12 ...........

(3)
60 - 48 =12
(b) State one assumption you made in working out your answer to (a)
Trot all the men wolt ot The sume. .
..... L B

5 Helen jogs at an average speed of 9.8 kilometres per hour.
Helen runs 3 kilometres.

(a) Work out an estimate for how long it takes Helen to run 3 kilometres.
m - dJShMCQ . % hoor =
o

(b) Is your answer to (a) an underestimate or an overestimate?
Give a reason for your answer.

© CORBETTMATHS 2019




6. Solve the simultaneous equations

3x+5y=1
2x -3y =7

Do not use trial and improvement

q9C+ISc:j 55
lox - ISy : 35 @

9 : R
Xz ok

6+§9=l
Sy=-S
e
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7.. Ais a point on two circles.
The smaller circle is inside the larger circle.

The difference between the area of the smaller circle and the larger circle is
20cm?

The radius of the smaller circle is rcm
The radius of the larger circle is 2cm greater than the radius of the smaller circle.

5
Show that the radius of the smaller circleis — — 1 cm
b4

orea i Smallr cule = TTrY

2
Gt 4 \Oﬁw wele = Tr(ri-;))lr Trr o+ 4T 4T

Diflersase : Y + 4T = 20
41 = 20 - 47T
s 2} - ,
uTT
it )
-~

| 4
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8. (a) Write down the exact value of sin 30°

(1)
The diagram shows a right angled triangle ABC
Angle Sine |Cosine| Tangent
20° 0.34 |0.94 0.36
X 70° 094 (034 | 275
o
@ 10cm
Work out the value of x.
2 = 0.36x10
Lo o twndo x lO =
...... 36cm
(2
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Q. A teacher gave 100 boys and 100 girls a maths test.
The test was out of 45 marks.
The cumulative frequency curves show how each group performed.

A

100} T Se—

80

Cumulative
Frequency

40}

0 &
50
Score
(a) Find an estimate for the number of boys who scored over 40 marks.
-y = A
(1)

(b) Make two comparisons between the distributions of the boys and girls scores.

The girls scored higher than the boys, as the girls had a
median of 31.5 compared to the boys who had a median of 24.
The boys' marks are more spread out (less consistent) than the
girls' marks, as the IQR for the boys is 19.5 and the IQR for the
girlsis 14.5
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10. (a) Factorise fully 3x% — 75

3(12 -ZS> 3

- 2(x + 3)°
(b) Simplify
x+3
% Z(x+3>
it x*+3x -4
c) Simpli
i x2—8x+7

@-\ 4(—)1?‘-])~
(- X~

© CORBETTMATHS 2019

(2)
Ax +§6
(1)

o 44
¢ Aokl SN S
(2)



11.  Anonline retailer normally sells clothes at 50% more than the cost price.

In a sale the price of all clothes are reduced until they are only 5% more than
the cost price.

By what percentage of the original selling price have the price of the clothes
been reduced?

¢ x is Cost pice

wsoal fethiy price. = 5%

Sl PnQQ = [-0SX

s redueta "‘ - i e e
.............. ...%

12.  Shown below is cyclic quadrilateral BCDE

AB is a tangent to the circle.
AED is a straight line.

Work out the size of angle y.

\6 - (60 -(6?"‘3‘7)
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13.

10

Describe fully the single transformation that maps shape A onto shape B.
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14.  (a) Work out the value of 25~2

/% i Gk
A \r-.S' S ,/
125
..................... (2)
2° = d4/2
(b) Find the value of a
,
G g L e
" 'L"z A~-A&t 1 - ;
i 2%

15. Shapes A, B and C are similar.

The height of shape A is 8cm
The height of shape C is 4cm

The ratio of the surface area of shape B to the surface area of shape C is 25:9

Work out the ratio of the volume of shape A to shape B.

prou wa B.CT 259

" ho o W‘? BLC °

o o ho (Qiefiv MBC 6.5

k3 mh)orw}) AR 6' ¢
s o il BT SP IUE S
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e 452
16.  Show algebraically that ().9]13 can be written as 295

X~ 0O.91331% ..,
lox=9.131313 ...
Lo = A13.13131% .. -

qaox = 49%

. R qo4 . 452
190 495

etV

17.  Melanie draws the graphof y = x>+ ax +b

The graph crosses the x-axis at the points (—=7,0) and A
The graph crosses the y-axis at the point (0, — 21)

Ya

R/
g

'

(a) Find the coordinates of the point A

b= -2l
x’--tax -'ZI-‘(X*?XI’3) 3, O)

P '3 (2)

xV

(b) Find the coordinates of the turning point

(43 )(x -3): x? 44x -2
(ocn)?'- S o e
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18.  Shown below is the curve with equation y = f(x).
The curve passes through the points (-4, 0), (-1, 0) and (0, 5)

Y

é, 5)

(-4, 0)/\/ 3

Sketch the curve with equation:

(a) y=f(x-1)

(shig L4 the riakf)

(-1,0) |0

(b) y=-f(x)

(mpdif)t

N oS

(—3. o)

(2)

G40
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19. For all values of x
fX)=3x+2 and g(x)=(x=3)

(a) Find fg(x)

cln) - £(6Y
= 3(x-3° 1 A

(b) Find f~1(—12)

D sz~

U= =k

y Bl
-3
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V3 +2
253

in the form a + b\/g where a and b are integers.

20. Express

(1), (e 3B 34120
(2 -3) @*(3) e

2 A-@‘\'q-
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21, A

o) b

OAB is a triangle.
M is a point on AB such that AM : MB = 5 : 2

Of = @ OB =b

Express MO intermsofaandb

Ab=%-«
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22. 45 students were asked if they have visited Canada, Mexico or the USA.
# students had been to Canada
& student had visited all three countries

2 students had visited Canada and Mexico but not the USA.
3-students had visited Mexico and the USA.
#Z students had not visited any of the countries.

@out the 19 students who had visited the USA, had been to at least one
of the other countries.

Two of the 45 students are chosen at random.

Work out the probability that they both had only visited Mexico.

- M

)
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